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: 1e majority of the sample is not included - 100% of the solution, solid, or

-~ inthe measurement, but is required to fill suspension in the cavity is within the
o the cuvette to the necessary Z-height. ‘, measurement light.
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Therefore, the 'absorba'nce calculated is higher Therefore, the absorbance calculated is accurate.

than it actually is. One calls this “apparent high
absorbance”.
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SUMMARY

A spectrophotometer with a A spectrophotometer with an integrating
rectangular (1 cm? ) cuvette cavity (i.e., a CLARITY UV/Vis)
e Atleast 3.5 mLis used A few particles up to 8 mL of sample is used. The
. . lower limit is that which produces a signal of
* A small percentage of the sample is used in the 0.0001 AU/cm or larger
measurement ' '

 100% of this sample is used in the measurement;

* The pathlengthis 1 cm there is nowhere for molecules to hide.

* If the sample is not perfectly clear, the returned

.  When the filled cavity volume is used, the sample is
answer is wrong.

up to 30x more dilute than in a 1 cm cuvette.

* The only obtainable answer is the correct
absorbance. The answer is pathlength-corrected to
Abs/cm when the volume is known (not always
possible with solids).
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